E Liberty Furniture
INDUSTRIES, INC

ITEM #:268-0OT1010

LIBERTY FURNITURE

ASSEMBLY INSTRUCTION

DESCRIPTION: OVAL COCKTAIL TABLE

PARTS LIST
NO. SKETCH DESCRIPTION QTY
1 Q Top Ipc
2 O Shelf Ipe
3 W Legs 4pcs
4 / Short Rail Ipc
5 \ Long Rail Ipc
6
HARDWARE LIST
DESCRIPTION SIZE QTY
Curved washer 1/4"#24%8%12mm|  8pcs
Flat washer @1/4"*16mm 19pcs
Lock washer @1/4" 19pcs
Bolt @1/4"*55mm 19pcs
Allen wrench M4 Ipc




